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BASED ON N.C.E.R.T PATTERN  

                            CH- TIME  

Convert into second  : 

Example  :  3 min   =  3 × 60 sec  ( 1min = 60 sec ) 

                                  = 180 sec 

Solve the following  

a. 8 min    =  ________sec. 

b. 5 min   = ________sec 

c. 2 min 12 sec  = ________ sec. 

d. 4 min 20 sec    =    _______sec. 

e. 9 min                = _________sec. 

f. 10 min 3sec = _________sec. 

g. 4 min             = _________sec. 

h. 7min 2sec = __________sec. 

i. 12 min 2 sec = ________sec. 

j. 15 min           = _________sec. 



k.  


